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  (7^	
  settimana)	
  

Argomento	
  prevalente:	
  

• Radici	
  n-­‐esime	
  di	
  un	
  numero	
  complesso	
  
• Risoluzione	
  di	
  equazioni	
  e	
  	
  sistemi	
  di	
  equazioni	
  in	
  C	
  

	
  

	
  

Esercizi	
  svolti	
  dall’insegnante:	
  

1) Determinare	
  le	
  soluzioni	
  𝑧 ∈ 𝒞	
  delle	
  equazioni:	
  
a)	
  	
  	
  	
  𝑧 + 2𝑧 = 4− 3𝑖	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  b)	
  	
  	
  	
  	
  	
  	
  4𝑖𝑧 = 3− 𝑧 	
  

2)	
  	
  Risolvere	
  	
  in	
  	
  𝒞	
  	
  l’eq.	
  	
  	
  	
  	
  	
  	
  	
   𝑧 + 𝑖 ! = !!!
!

!"
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  

3)	
  Risolvere	
  	
  in	
  	
  𝒞	
  	
  il	
  sistema	
  	
  	
  	
  
𝑧 = 𝑤 = 2

    𝑧 + 𝑤 = 1+ 𝑖 3
	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  



	
  

	
  

Esercizi	
  che	
  gli	
  studenti	
  	
  devono	
  svolgere	
  in	
  classe	
  

	
  

1)	
  Problema:	
  determinare	
  le	
  soluzioni	
  𝑧  e  𝑤 ∈ 𝐶	
  del	
  sistema:	
  	
  	
   𝑖𝑧𝑤 = 3𝑖𝑧 − 1− 𝑤
𝑖𝑧𝑤 = 𝑤 − 1− 3𝑖𝑧	
  

	
  

2)	
  Problema:	
  determinare	
  le	
  soluzioni	
  𝑧  e  𝑤 ∈ 𝐶	
  del	
  sistema:	
  	
  	
  
!
!
= 𝑧 = 2

2𝑧 + 𝑤 = 4
	
  

	
   	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  



	
  

	
  

Scheda	
  compiti	
  assegnati	
  a	
  casa	
  

	
   	
   	
   	
   	
   	
   	
  

1)	
  Calcolare	
  	
  	
  (1− 𝑖 3)!	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  [16+ 16 3𝑖]	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  

2)	
  Calcolare	
  	
   −8+ 8𝑖 3
!

	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
   ± 3+ 𝑖         𝑒      ± (1− 𝑖 3) 	
  

3)	
  Problema:	
  	
  	
  determinare	
  le	
  soluzioni	
  𝑧 ∈ 𝐶	
  del	
  sistema	
  :	
  

𝑧 + 𝑧 = − !
!
𝑧

ℑ𝑧 = 2+ℜ𝑧
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
   𝑧! = −8− 6𝑖  ;   𝑧! = −!

!+
!
!𝑖 	
  

	
  


